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Division
Worksheet-2

WORD HARD AND BE PATIENT. THE REST WILL FOLLOW.
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1. Varun has some stickers. He can share them equally with 6 friends. He can also share them
equally with 8 friends. What is the fewest possible number of stickers he can have?

A 12 B. 32 C.24 D. 48

2. In a farm, there are 9 hens and some cows. If there are 26 legs altogether, how many cows
are there?

A.5 B. 6 C. 4 D. 2

3. 4600 people were to be transported in 100 buses. How many people could 1 bus carry, if
each bus carry equal number of people?

A. 46 B. 460 C. 4500 D. 200

4. Find the value of %S“%
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A. 4 B. 2 C.0 D.5

6. 990 cold drink bottles are to be placed in crates. Each crate can hold 18 bottles. How many
crates would be needed?

A. 50 B. 55 C. 60 D. 65




7. Rahul took 162 sweets to school on his birthday. He distributed all sweets to the 32 children
in his class equally. How many sweets did each child get? How many sweets were left with
him?

A.5,2 B.2,8 C.9,5 D.57

8. For the annual examination 1176 children were made to sit in 21 rooms. If every room had
equal number of children, find the number of children sitting in one room.

A. 60 B. 56 C.54 D. 42

9. A garden plans to plant 4600 trees in 23 rows, each containing the same number of trees.
How many trees will there be in each row?

A. 200 B. 400 C. 300 D. 250

10. If the cost of 1 packet of TIGER biscuits is ¥ 5 they how many packets can | get for ¥ 30

with the FREE OFFER shown here?
° °

Free! Free! Free!

with every 2 packets of Tiger
biscuits, get 1 packet absolutely
FREE

A. 6 B. 9 C.10 D.12




